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By energy minimization

Recall in spring of constant w E Iwl

when stretch to length l

So let's stretch to length 1
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proof R set off 1 OCHO

fCow on edge I is GI NH Fi

So total flow It
Refffset 1

E

If view formula as I Cs7 uCtDws.c

wi Yei then add weights of paralleledges

Equivalent networks Gwen B wait matrix LB

St IB LBNCB when u hormone or f V B

To do it slowly first consider B 2 in S i

Let N a are

want to compute w given NCB and roll It weave

substitute for NCI in

ie a damnCa fzawabucts
uber Hq

no charge it at 1



For a 1 becomes
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Claim is result of elimination on rowlool 1

and is a Laplacian equator on B
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In Energy term

Compute Lps so that
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Eliminating Mary ventres at once

Does not depend on order

To dim entries in row aeB and cols.us
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If B fit get down to one edge
whose weight is tpeffcs.tt

In particular to sit C B
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